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QUESTION 1

Click the Exhibit button.

As2
R4

10.100.1.0/30 ‘ﬁ HRs

W ogep W j.1 EBGP .2\ Wzs gepY”

100.0.0/16

user@R2> show route 100.0.0.0/16 terse

inet.0: 1400327 destinations, 14000327 routes (1400032¢€ active, 0 holddown, 1 hidden)
+= Actiwve Route, — = Last Active, * = Both

A V Destination v prf Metric 1 Metric 2 Next hop AS path
* 100.0.0.0/24 I 165 100 >10.254.31.2

B 170 100 >10.254_.31.2 T
* 100.0.1.0/24 I 1&5 100 >10.254.31.2

B 170 100 >10.254_.31.2 I
* 100.0.2.0/24 I 1&5 100 >10.254.31.2

B 170 100 >10.254.31.2 I
* 100.0.3.0/24 F:1ES 100 >10.254.31.2

B 170 100 >10.254.31.2 T
* 100.0.4.0/24 I 165 100 >10.254.31.2

B 170 100 »>10.254_.31.2 T
* 100.0.5.0/24 I 165 100 >10.254.31.2

B 170 100 >10.254.31.2 T

Referring to the exhibit, you must advertise the 100.0.0.0/16 routes from AS1 to AS2, but R2 is not advertising any BGP
routes to R5.

Why is this happening in this scenario?

A. The IBGP routes will not be advertised because you must use a policy to advertise IBGP routes.
B. The IBGP routes are not active and EBGP will advertise only active routes.

C. The IBGP routes will not be advertised because the AS path shows as incomplete.

D. The IBGP routes are not active because the next hop is not reachable.

Correct Answer: B

QUESTION 2

Which type of BGP is used to peer with a different autonomous system?
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A. external

B. classless
C. dynamic
D. static

Correct Answer: A

QUESTION 3

Which two statements are true about IS-IS levels? (Choose two.)

A. Level 1 systems use a default route to reach AS external routes located in other areas.
B. Level 2 systems must use the loopback address as a part of the ISO network address.
C. Level 1 systems only from adjacencies with other systems that have different area IDs.
D. Level 2 systems do not advertise Level 2 routes into a Level 1 area by default.

Correct Answer: AD

QUESTION 4
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[edit protocols pim]
user@R1l# show
o Y
bootstrap {
family inet {
priority 250;

}
local {
address 10.42.0.1;

group—-ranges {
224.0.0.0/4;

}
interface ge-0/0/0.0 {

disable;

}
interface all;

[edit protocols pim]
user@R2# show
rp {
bootstrap {
family inet {
priority 250;

}
local {
address 10.42.0.2;

group—-ranges {
224.0.0.0/4;

}
interface ge-0/0/0.0 {
disable;

}

interface all;
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Referring to the exhibit, there are multiple ASM groups in the 224.0.0.0/4 range.

Which configuration change is needed to ensure R1 is always the RP for group 224.224.1.1?
A. Set the priority on R1 to zero.

B. Increase the priority on R1 to higher than R2.

C. Configure R1 with a higher local RP address.

D. Ensure R1 has a more specific group range.

Correct Answer: A

QUESTION 5

Which protocol is used for port-level access control and authentication?
A. MD5

B. IPsec

C. 802.1X

D. AES

Correct Answer: C
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